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Attempt Q. No. 1 and any other five quastions

(3)
(1)

3. (a) Show the different types of centrifugal

(¢) What are the functions of tundish in i with 3¢k o drswing.

continuous casting process ! Whatis the di geofthisp for :
() Mention the significance of “polarity”inare Al-alloy casting ? p
' (5) What is continuous casting process, and
(g) Explain how arc shielding is achicved in mention thebasic featurcs of thispe
ssbmerged e waiding with aneatsketch. 5

() Mention an application of thermit welding 4 (o) Electron beam welding and laser-beam

s welding are considercd as high cnergy
The figures (n the right-hand margin indicate marks () Define the term “weldability” of a metal. M‘:f:l:ﬂﬂ-‘w.-"‘ \
: (/) Asteel bar of 200 mm diameter is being ,
L. Answer ail questions : 2x10 turned at 93 m/min ot & feed of 0.2 mmfrey (b) With peat sketches cxplain the following
(a) What are the components of the gating udt_lqnore_-dzlmvunmmm welding defects (1) undercut (i) M
system in sand mould ? rale s munyisin, (i) ersees. Explain dp J
(b) Explain the use of sweep pattern in sand 2. (@) Meution the various flc!m considered measurcs, if any,
casting. while d;sluln; pattcrn in sand casting f S (eh Explin e b
(¢} What do you mean by directional f oz - in manual metal arc welding, 3
lidification in casting 7 b) What are the functions of riser casting 2
i sprs { )A:phﬂiulmhmﬁuimmwhuu (b With simple sketches, explain metal inert gas
(d) Fow liquid, solidification and solid shrinkages cylindrical riser $ cm i diameter and 10 cm (MIG) weldi = 5
are taken care in sand casting process 7 height. Will the riser peevent macroporosity 7 §
. I Toche MMST- (Rt { Trve Over )
(I o) RIach IS (1) (Consimed)
A : G @
(52 )
(5)

6. (a) Flame in oxy-acetylene welding is produced
by the chemical reaction of acetylene (C,H,)
and oxygen (0,) in two stages. Describe the
reactions. How the 2-stage reaction affects

the ﬂame structure ? 5

001 1109 2i 1s
*(b) Explainithe principle of forination of an
electric arc when potential field is applied

between the electrode and the work. 5

7. (a) How many top risers will be needed in
sand casting a bar of dimensions 4 inches
x 4 inches x 100 inches (thickness x width

x length) ? 5

(b) A centre lathe is driven by a 3 phase induction
motor having a rotational speed of 1440 rpm.
The motor is connected to the headstock via
belt-pulley mechanism. The diameter of the
‘pulley on the motor spindle is 200 mm and
that on the input shaft of the headstock is
300 mm. For a particular combination of
gears in the headstock, the main spindle
rotates at 144 rpm. (/) What is the rotational
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speed of the input shaft of the headstock ?
(if) What would be the rotational speed
of the main spindle if the pulleys are
interchanged ? 5

8. (a) A grinding wheel is specified as C60K8V.
Explain the grinding wheel specification.  5-

(b) A spur gear with 48 teeth is required to
$ be machined in milling machine. Explain
indexing procedure with a neat diagram of

the indexing mechanism. 5
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